
M6 x 1.0
Hex Nut
83525

M6
Flat Washer

87508

M6 x 1.0 x 12
Cap Screw

4265

M6 x 1.0 x 20
Cap Screw

4267

M8 x 1.25
Hex Nut
83526

M8
Flat Washer

87510

M8 x 1.25 x 20
Cap Screw

4282

M8 x 1.25 x 25
Cap Screw

4283

M10 x 1.5
Hex Nut
83527

M10
Flat Washer

87511

M10 x 1.5 x 25
Cap Screw

82148

M10 x 1.5 x 30
Cap Screw

4293

M12 x 1.75
Hex Nut
83528

M12
Flat Washer

87512

M12 x 1.75 x 30
Cap Screw

80213

M12 x 1.75 x 40
Cap Screw

80214


